WINDY NIGHTS

Whenever the moon and stars are se-----------------‘t’
Whenever the winds are high----------------------------
All night long through the dar’k’ and we---------‘t’

	A man goes riding by-------------------------
	A ma---------------n goes riding by--------



La’t’e in the night when the fires are ou’t’,
why does he gallop and gallop abou’t’,

	Whenever the winds are high
	When e---------------------ver, winds are high




	Whenever the TREEs are crying out loud
	………………………whenever the TREEs are crying out loud

	And shi’p’s are tossed at sea-----------------------
	………………………and shi’p’s are tossed at sea---



By on the highway, low and lou-----‘d’

	By at the gallop goes he----------------------
	By-------------------- at the gallop goes he--------



By at the gallop he goes, and THEN
By he comes back at the gallop again

	Whenever the winds are high
	When e---------------------ver, winds are high



	Ahhhhhhhhhhhhhhhh, 
	………………………la’t’e in the night when the

	Ahhhhhhhhh, ahhhhhhhhh
	Fires are ou’t’, la’t’e in the nigh---‘t’

	Ahhhhhhhhhhhhhhhhh
	…………….why does he gallop abou’t’, oh, 

	Why does he gallop abou------------------------------------t
	Why does he gallop and gallop and gallop abou------‘t’?!!!



	Whenever the moon and stars are se---------------------‘t’ 
	[bookmark: _GoBack]………………………whenever the moon and stars are se---‘t’

	Whenever the winds are high-------------------------------------
	………………………whenever the winds are high………………….. 



All nigh’t’ long through the dar’k’ and we---------‘t’

	A man goes riding by-------------------------
	A ma---------------n goes riding by--------



La’t’e in the night when the fires are ou’t’,
why does he gallop and gallop abou’t’,

	Whenever the winds are high-------------
	Whene--------------------ver winds are high

	Winds are high--------------------------
	----------------------------------winds are high-----

	Windy nigh-------------------------------ts
	---------------------------------windy nigh--------ts





WINDY NIGHTS
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